
Everything has a sufficient reason. The universe does not contain sufficient reason for its own existence.


Leibniz (1646 –1716)





In other words, when we ask the question WHY there will always be an answer.  Consider the following examples:


Why is it sunny?


Why did Hitler invade Poland?


Why does the earth go round the sun?


Why does the universe exist?





Much the same thinking is found within Aquinas’ Cosmological Arguments.  Aquinas assumes that questions about cause, motion and existence can be answered and answered intelligibly.  In other words, there is an explanation.  For Aquinas this explanation must lie beyond the contingent world in a necessary being.





Aquinas and Leibniz make the assumption that the universe is ultimately intelligible.  But note: this is not a logical requirement.  It is not a necessary truth.  We may if we want disregard the assumption that the universe is ultimately intelligible.





RUSSELL: It all turns on the question of sufficient reason, what do you mean by it?





COPLESTON: By sufficient in the full sense I mean an explanation adequate to the existence of some particular being.





RUSSELL: But when is an explanation adequate?  Suppose I am about to make a flame with a match.  You may say that the adequate explanation of that is that I rub it on the box.





COPLESTON: That is only a partial explanation.  An adequate explanation must be a total explanation, one to which nothing further can be added.





RUSSELL: You’re looking for something which can’t be got, and which one ought not to expect to get.





THE EXISTENCE OF GOD: A radio debate (1948)





Here Russell is challenging the assumption that things only become intelligible when fully explained.


Try some of these examples:





Why did Hitler invade Poland?


What is the “greenhouse effect”?


Why did Tony Blair win the last general election?





Russell’s conclusion is that even if explanations are only given in terms of the relation between contingent items then the explanation is still adequate.  In relation to the cosmos, we can explain its existence in terms of its causal connection between contingent items.  This for Russell is  a satisfactory explanation.  





I should just say the universe is there and that’s it!


Russell





Copleston is not satisfied with Russell’s conclusion because he claims Russell has not given a satisfactory explanation for the existence of all contingent things.  For Copleston a satisfactory explanation for the universe must break the chain of contingent items.








